flux

A? / 0.4907

A? / 0.4922

20 30

10

100

50

Fe2 + Continuum Fit

2
X min / 4587 =

0.4907

oy 699 km/s
T r T T

Opep 446 +/— 195 km/s
e —

,.M

Fe2 Dispersion (km/s)

e Ll W1 TS b 4 sl
Fa s bl L — = e
L L ) ) | ) I B TR BT ) ) 1
2000 2500 3000 3500 4000 4500
Rest A (&)
Fe2 Scale Factor x2 Diagnosis
o, 699 km/s 0.01893(59) x min / 4587 = 0.4907
T T T T T T T
rm047 RMS 2 65 |
= MAD 2.15 —
1 1 1 |F [ 1 . 1 . 1
0.014 0.016 0.018 0.02 0.022 0.024
Fe2 scale factor
Fe2 Velocity Dispersion x2 Diagnosis
o, 100 2260 prior 225 km/s —860(200) X2min / 4587 = 0.4907
T T T T I T T T T I T T T T I T T T T I T T T T I T T T l
rmQ47 RMS 21.8
MAD 14.3 1
Ll ln lI ‘m“lhh\l “ |
!H i ]
“00
L | L N
2500



